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ANSWER KEY

1. Answer the following questions. Give complete answers.
(1 point each = 2 points)
Possible answers:

a) Brazil is expecting an important tourism expansion in the coming years because the 2014
Football World Cup and the 2016 Olympic Summer Games will be organized in the country.

b) Two of the following: airports are being improved / roads are being built / public
transportation is being expanded / new hotels are being built / more people are being
employed (in tourism-related jobs)

2. Underline the best option
(0.5 points each = 1 point)
a) 1. a higher number of tourists.

b) 2. enjoy the country’s tourist attractions.

3. Are the following sentences true or false? Underline the correct option
(0.5 points each = 1 point)
a) Brazil has been considered a safe country for tourists. False

b) Brazil is an expensive country to live in. False

4. Find a synonym in the text for these words (0.5 points each = 1 point)

a) distant = far / far away b) security = safety

5. Write a text 60-80 words long (5 points)



